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a9 - ZlFADlA ¢9)|2 Z|FA d%)\
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x |A)? [1+ cos? 0] + |B|?sin? 0 (2.89)
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3.3.3 1 — VA(¢f,(1420))
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Aot = [pxM (Aa)$* (5)] (3.40a)
Az = [pxM (Ao)7* - 9" (0)] (3.40b)
Agy = [px® (Ao)72 - 6% (9)] (3.40c)
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Fy1 = +gm ET Vs + g21 ET Vs — 922 ZT Vs (3.41c)
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tor(int m_MY=-1;m_MY<=1l;m_MY+=2)//two values for Y-state helicity

{

for(int m_MJ=-1; m_MJ<=1; m_MJ++)

{
TComplex ampl_x(0.0,0.0);//g01
TComplex amp2_x(0.0,0.0);//g21
double RF_jpsi = RFgamma(l, m_MJ, gamma_jpsi);//Jpsi in Y rest frame
//801
ampl_x = RF_jpsi * Ffunc(1,0,m_MJ,0,1,0,1) * wignerDC_1(1,m_MY,-m_MJ,thetaX,phiX);
//821
amp2_x = RF_jpsi * Ffunc(1,0,m_MJ,0,1,2,1) * wignerDC_1(1,m_MY,-m_MJ,thetaX,phiX)*BarrierF(2,rhoX*2.0);
TComplex ppXS_g01 = ampl_x;
TComplex ppXS_g21 = amp2_x;
amp_terms["f0500_SS"].push_back(CSO_1 * ppXS_g01*tfS0);
amp_terms["f0500_DS" ] .push_back(CS0_2 * ppXS_g21*tfS0);
amp_terms["f0980_SS"].push_back(CS1_1 * ppXS_g01*tfS1);
amp_terms|["f0980_DS"].push_back(CS1_2 * ppXS_g21*tfS1);
amp_terms["£01370_SS"].push_back(CS2_1 * ppXS_g01*tfS2);
amp_terms["f01370_DS"].push_back(CS2_2 * ppXS_g21*tfS2);
//amp_terms["f£0500_SS"].push_back(CSO_1 * ppXS_g01);
//amp_terms["f£0500_DS"].push_back(CSO_2 * ppXS_g21);
//amp_terms["f0980_SS"].push_back(CS1_1 * ppXS_g01);
//amp_terms["f0980_DS"].push_back(CS1_2 * ppXS_g21);
//amp_terms["£01370_SS"].push_back(CS2_1 * ppXS_g01);
//amp_terms["f01370_DS"].push_back(CS2_2 * ppXS_g21);

}

}
for(int m_MY=-1;m _MY<=1;m_MY+=2)//two values for Y-state helicity
{
for(int m_MJ=-1; m_MJ<=1; m_MJ++)
{

TComplex ampl_x(0.0,0.0);
for(int m_Mf=-2; m_Mf<=2; m_Mf++)

{
double RF_jpsi = RFgamma(l, m_MJ, gamma_jpsi);//Jpsi in Y rest frame
double RF_x = RFgamma(2, m_Mf, gamma_x);
//8-01
ampl_x += RF_jpsi*RF_x * Ffunc(l,m_Mf,m_MJ,2,1,0,1) * wignerDC_1(1,m_MY,m_Mf-m_MJ,thetaX,phiX) * Ffunc(2,0,0,0,0,2,0) * wignerDC_1(2,m_Mf,0,thetapip,phipip) * BarrierF
}
TComplex ppXD_gO1 = ampl_x;
//£21270

TComplex sum_XDO = CDO_1 * ppXD_gO1;
amp_terms["£f21270"].push_back(sum_XD0O*tfDO) ;
//amp_terms["£21270" ] . push_back(sum_XDO) ;
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¥ Decay sequence ¥ — @fy, fo — T
Decay : 9 — fo.fo —m @

JP 1 1 07,00 =0T 0F
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M = € (my) ¢ (my) BW (fo)

My = f;(mY)¢v(mﬁﬁ)f((j}ﬁ)yBW(fO)
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Decay : Y —) fo
J 1 1 27

v BRI L = 0,5 = 1a9iER:
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o s — s BARIEA M® = 52677 (my,)wy (my)
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* o~ 2) v
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pn=1

S BB E—REE 2
x  =ur/ 2
=-5 ) Mg () Pl (P(12))
pn=1



Helicity formalism
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Amp helicity
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